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Because orange juice and apple juice are substitutes. If we observe that the equilibrium price of orange juice has risen but the
equilibrium quantity of apple juice have fallen. What could be responsible for this pattern—a rise in the price of orange or a rise

in the price of apple? [llustrate and explain your answer. (6%)
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5. Suppose that Taiwan’s government intends to increase investment in infrastructure by a large amount.

a. Draw an aggregate-demand/aggregate-supply diagram to show the short-run effect of this investment on the economy. Label
the new levels of prices and real output. (3%)

b. Assume there is no change in the long-run aggregate-supply curve. Use the diagram from part (a) to show the new long-run
equilibrium of the economy. (3%)

c. Explain the transition process from the short-run equilibrium to the long-run equilibrium. According to the sticky-wage
theory of aggregate supply, compare the nominal wages in part (a) and part (b), and the real wages in part (a) and part (b).
(6%)

d. Ignore the assumption in b. How might the investment affect the long-run aggregate-supply curve and the long-run
equilibrium of our economy? What determine the amount of the extra long-run aggregate output produced by this
infrastructure investment?(4%)

6. Sarah is awake for 100 hours per week. Using one diagram, show Sarah’s budget constraints if she earns $300 per hour. Now
suppose that Sarah’s wage increase from $300 per hour to $450 per hour. What happens to Sarah’s labor supply? Will she work
more hours? Illustrate your answer.(6%)
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